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multi(), division() 2

void multi(int a=0, int b=0){
cout<< "muilti result : " << a*b << end!;

}

void division(int a=0,int b=1){
cout << "division result : " << a/b << endl;

}
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« 1) Solution

#include <iostream>
using namespace std;
void multi(int a=0, int b=0){
cout << "multi result : " << a*b << endl;

}
void division(int a=0,int b=1){
try{
if( b==0 ){
throw O;
}
cout << "division result : " << a/b << end];
}

catch(int exception){
cout << exception << "2 2 L= = Y& L|CH" << endl;
}

}

int main(){
intval_1, val_2;
cout << " 7}O| ==X} & .
cin>>val 1 >>val 2;
multi(val_1, val_2);
division(val_1,val_2);
return O;
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main

int main(){

int val;
cin >> val;

try{
}

catch(const char* s){
cout << s << endl;

funcl(val);

}
catch(double d){

cout << d << endl;
}

catch(char c){
cout << ¢ << endl;
}

catch(int i){
cout << i << endl;
}
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« 2) Solution

#include <iostream>
#include <ctring
using namespace std;
void funcl(int val){
switch(val){
case 1: throw "Bye";
case 2: throw 10.5;
case 3: throw 'a’;
default: throw 0O;

}
}

int main(){
int val;
cin >> val;

try{
funcl(val);

catch(const char* s){
cout << s << endl;

}
catch(double d){
cout << d << endl;

catch(char c){
cout << ¢ << endl;

catch(int i){
cout << i << endl;
}
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int main(){
inta, b;
cin>>a>>b;
swap_value(a,b);

cout << a << b;
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3) Solution

#include <iostream>
using nhamespace std;

template <typename T>
void swap_value(T &tl, T &t2){

T temp;
temp=t1;
t1=t2;
t2=temp;

}

int main(){
int a, b;
cin >>a>>b;
swap_value(a,b);

cout << a << b;
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short max(short a, short b){

return a<b? b : a;

double max(double a, double b){

return a<b? b : a;

}

iInt max(int a, int b){

return a<b? b : a;

}
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* 4) Solution

template <typename T>
Tmax(Ta, Th)

{

returna<b?b:a;

}
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int main(){

Student<int, float> st1(2019,79.5);
Student<int, int> st2(2020,80);
getMax(stl.getGrade(), st2.getGrade());

stl.setGrade(80.5);
getMax(st2.getGrade(), stl.getGrade());
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° 5) SO | u tl on #include <iostream>

using namespace std;
template <typename T1, typename T2>
class Student{

T1 std_ID;

T2 grade;
public:

Student(T1 std_ID, T2 grade){
this->std_ID=std_ID;
this->grade=grade;

}
void setGrade(T2 number){
grade=number;

}

T2 getGrade(){ return grade; }

b

template <typename T3,typename T4>
void getMax(T3 a, T4 b){

if (a>b){
cout<< a<< endl;

}

else cout << b << endl;
}
int main(){
Student<int, float> st1(2019,79.5);
Student<int, int> st2(2020,80);
getMax(stl.getGrade(), st2.getGrade());

stl.setGrade(80.5);
getMax(st2.getGrade(), st1.getGrade());
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